Parting and Grooving Holder Naming Rule

MG E H R/L 2525 300 T20
KARBIT Grooving Working style Holder]tyle Hand Shank stsndard Cutting width Maximum depth
E-External process H-Horizontal R-Right Height 25 MM 2.0~8.0MM 8.0~36.0MM B
-Internal process V-Vertical L-Left Width 25 MM
U-Undercut
1T E R/L 2525 200 T20
KARBIT Grooving Working style Hand Shank stsndard Cutting width Maximum depth
E-Exteral process R-Right Height 25 MM 2.0~8.0MM 8.0~36.0MM
nternal process L-Left Width 25 MM
C
Part off Blade
P H S 32 32
Parting off cutting tools Parting off tool base Cutting edges numbers of insert Blade model code Blade height
D
1§

127



WE ox
B r @
w T LF
Dimension Adaptable Inserts Screw Wrench
Type
H B | LF | wr cw DX (
ZQ1616R03 16 16 100 16.4 3 16 ZQMX3N11-1E
M5X17 S4
ZQ1616R04 16 16 100 16.4 4 18 ZQMX4N11-1E
ZQ2020R03 20 20 125 204 3 20 ZQMX3N11-1E
C ZQ2020R04 20 20 125 204 4 20 ZQMX4N11-1E
ZQ2525R03 25 25 150 25.4 3 20 ZQMX3N11-1E
M6 X 20 S5
ZQ2525R04 25 25 150 254 4 20 ZQMX4N11-1E
ZQ2525R05 25 25 150 25.4 5 25 ZQMX5N11-1E
ZQ2525R06 25 25 150 257 6 32 ZQMX6N11-1E
ZQ3225R03 32 25 170 25.4 3 25 ZQMX3N11-1E
ZQ3225R04 32 25 170 254 4 25 ZQMX4N11-1E
M6 X 22 S5
ZQ3225R05 32 25 170 25.4 5 25 ZQMX5N11-1E
ZQ3225R06 32 25 170 257 6 32 ZQMX6N11-1E
ZQ1616L03 16 16 100 16.4 3 16 ZQMX3N11-1E
M5 17 54
ZQ1616L04 16 16 100 16.4 4 16 ZQMX4N11-1E
ZQ2020L03 20 20 125 204 3 20 ZQMX3N11-1E
D
ZQ2020L04 20 20 125 204 4 20 ZQMX4N11-1E
ZQ2525L03 25 25 150 25.4 3 20 ZQMX3N11-1E
ZQ2525L04 25 25 150 254 4 20 ZQMX4N11-1E M6 X 20 S5
ZQ2525L05 25 25 150 25.4 5 25 ZQMX5N11-1E
ZQ2525L06 25 25 150 257 6 32 ZQMX6N11-1E
ZQ3225L03 32 25 170 254 3 25 ZQMX3N11-1E
ZQ3225L04 32 25 170 254 4 25 ZQMX4N11-1E
M6 X 22 S5
ZQ3225L05 32 25 170 254 5 25 ZQMX5N11-1E
ZQ3225L06 32 25 170 257 6 32 ZQMX6N11-1E
1B

128



External Parting Blade

ol
Dimension
Adaptable Inserts
Type ¥
H W L h o

SPB326-S 26 24 110 21 ZQMX3N11-1E
SPB426-S 26 32 110 21 ZQMX4N11-1E
SPB526-S 26 4.0 110 21 ZQMX5N11-1E
SPB626-S 26 52 110 21 ZQMX6N11-1E
SPB332-S 32 24 150 25 ZQMX3N11-1E
SPB432-S 32 3.2 150 25 ZQMX4N11-1E
SPB532-S 32 4.0 150 25 ZQMX5N11-1E
SPB632-S 32 52 150 25 ZQMX6N11-1E

129




Grooving & parting tools

TTER/L @\

-

W —
=

il

Tmax L
Stock Dimensions(mm) Insert Screw Screw
Ordering Code
RiL|h|b|L|F|T/|h| e ' —
TTER/L1616H-2 e | e |16 | 16 | 100|161 12 | 16
TTER/L1616H-2-T17 | ® | ® | 20 | 20 | 125 | 16.1| 17 | 20
TTER/L2020K-2 e | |20 | 20 |125|20.1| 12 | 20 1D+200 ALNO520 "
C TTER/L2020K-2-T17 | @ | ® | 25 | 25 | 150 | 20.1| 17 | 25
TTER/L2525M-2 e | ® |25 | 25 | 150 | 25.1| 12 | 25
TTER/L2525M-2-T17 | ® | ® | 32 | 32 | 170 | 32.1| 17 | 32
TTER/L1616H-3 e | o |16 | 16 | 100 |16.25 12 | 16
TTER/L1616H-3-T20 | ® | ® | 20 | 20 | 125 |20.25| 20 | 20
TTER/L2020K-3 e | ® |20 | 20 | 125 |20.25) 12 | 20 TD*300 ALNO520 L4.0
TTER/L2020K-3-T20 | ® | ® | 25 | 25 | 150 |25.25| 20 | 25
TTER/L2525M-3 e | ® |25 | 25 | 150 |25.25) 12 | 25
TTER/L2525M-3-T20 | ® | ® | 32 | 32 | 170 |32.25| 20 | 32
TTER/L1616H-4 e | o |16 | 16 | 100|165 15 | 16
TTER/L1616H-4-T25 | ® | ® | 20 | 20 | 125 | 20.5| 25 | 20
5 TTER/L2020K-4 e | ® |20 |20 |125]|205]| 15 | 20 TD*400 ALN0520 L4.0
TTER/L2020K-4-T25 | ® | ® | 25 | 25 | 150 | 255| 25 | 25
TTER/L2525M-4 ® | ® |25 | 25 | 150 | 255| 15 | 25
TTER/L2525M-4-T25 | ® | ® | 32 | 32 | 170 | 325| 25 | 32
TTER/L2020K-5 ® | ® |2 | 20 | 125|206 20 | 20
TTER/L2020K-5-T25 | ® | ® | 25 | 25 | 150 | 25.6| 25 | 25
TTER/L2525M-5 ® | ® |25 | 25 | 150 | 256| 20 | 25 707500 ALNO520 L0
TTER/L2525M-5-T25 | ® | ® | 32 | 32 | 170 | 32.6| 25 | 32
E

130



Grooving & parting tools

| — i
hl h
: 4,
© l
Tmax L
B
Stock Dimensions(mm) Insert Screw Screw
Ordering Code
RIL|h|b|L|f]|T|h| ym ' —
MGEHR/L1616H-2 [ ] [ ] 16 16 | 100 |16.25| 14.5| 16
MGEHR/L2020K-2 [ ] [ ] 20 20 | 125 |20.25| 14.5| 20
MGEHR/L2020K-2-T10 [ ] [ J 20 20 | 125 [20.25] 10 20 L4.0
MG*N200 ALNO0520
MGEHR/L2525M-2 [ [ ] 25 25 | 150 [25.25| 145 | 25
MGEHR/L2525M-2-T10 [ ] [ ] 25 25 | 150 [25.25] 10 25
MGEHR/L3232P-2 [ ] [ ] 32 32 | 170 |32.25| 145 | 32 ALNO0620 L5.0
MGEHR/L1616H-2.5 [ ] [ ] 16 16 | 100 |16.25| 16 16
MGEHR/L2020K-2.5 [ ] [ ] 20 20 | 125 [20.25| 16 20 C
MGEHR/L2020K-2.5-T10 | ® [} 20 20 | 125 [20.25] 10 20 ALNO0520 L4.0
MG*N250
MGEHR/L2525M-2.5 [ ] [ ] 25 25 | 150 |25.25| 16 25
MGEHR/L2525M-2.5-T10 | ® [ ] 25 25 | 150 [25.25] 10 25
MGEHR/L3232P-2.5 [ ] [ ] 32 32 | 170 [32.25| 16 32 ALNO0620 L5.0
MGEHR/L1616H-3 [} [} 16 16 | 100 |16.25| 18 16
MGEHR/L2020K-3 ([ ] ([ ] 20 20 | 125 |20.25| 18 20
MGEHR/L2020K-3-T10 | ® | ® | 20 | 20 | 125 [20.25| 10 | 20 ALNO520 L4.0
MG*N300
MGEHR/L2525M-3 ([ ] ([ ] 25 25 | 150 [25.25| 18 25
MGEHR/L2525M-3-T10 [ ] [ ] 25 25 | 150 [25.25] 10 25
MGEHR/L3232P-3 ([ ] [ ] 32 32 | 170 |32.25| 18 32
ALN0620 L5.0
MGEHR/L3232P-3-T10 [} [} 16 16 | 100 |16.25| 10 32 D
MGEHR/L2020K-4 [ ] [ ] 20 20 | 125 [20.25| 18 20
MGEHR/L2020K-4-T10 [} [} 20 20 | 125 [20.25] 10 20
ALNO0520 L4.0
MGEHR/L2525M-4 ([ ] ([ ] 25 25 | 150 |25.25| 18 25
MG*N400
MGEHR/L2525M-4-T10 [ ] [ ] 25 25 | 150 [25.25] 10 25
MGEHR/L3232P-4 [ [ 32 32 | 170 [32.25| 18 32
ALN0620 L5.0
MGEHR/L3232P-4-T10 [ ] [ ] 16 16 | 100 |16.25| 10 32
MGEHR/L2020K-5 [ ] [ ] 20 20 | 125 |20.25| 23 20
MGEHR/L2020K-5-T10 [} [} 20 20 | 125 [20.25] 10 20
ALNO0520 L4.0
MGEHR/L2525M-5 [ [ 25 25 | 150 [25.25| 23 25
MG*N500
MGEHR/L2525M-5-T10 [ [ 25 25 | 150 [25.25] 10 25
MGEHR/L3232P-5 [ ] [ ] 32 32 | 170 |32.25| 23 32 E
ALN0620 L5.0
MGEHR/L3232P-5-T10 [ ] [ ] 16 16 | 100 |16.25| 10 32

131



Grooving & parting tools

MGFVR/L

H
F O]
‘LT ’
W —=H= L
Stock Dimensions(mm) Insert Screw Wrench
Ordering Code
RIL|Ih|b|LI|F D HT | w| ' —
MGFVRIL 320-44/62-T15 | ® | © 44-64
MGFVRIL 320-62/120-T15 | ® | o | 20 | 20 | 125|20.6| 62-120 | 20
MGFVR/L 320-112/200-T15| ® | © 112-200 3.0
MGFVRIL 325-44/62-T15 | ® | O MG*"N300
MGFVRIL325-62/120-T15 | ® | O | 25 | 25 |150(25.6| 62-120 | 25
_ — ) —
MGFVRIL 325-112/200-T15 o 112-200 15 ALNOB20 150
MGFVR/L 420-44/62-T15 | ® | ©
MGFVRIL 420-62/120-T15 | ® | O | 20 | 20 | 125|20.6| 62-120 | 20
MGFVRIL 420-112/200-T15| ® | O 112-200 4.0 | MG*N400
MGFVRIL 425-44/62-T15 | ® | ©
MGFVRIL 425-62/120-T15 | ® | O | 25 | 25 | 150|25.6| 62-120 | 25
MGFVR/L 425-112/200-T15| ® | © 112-200
¢Dmin [ i
1l =
H
MGIVR/L . ’
i :
Ll
[ v
Stock Dimensions(mm) Insert Screw Wrench
Ordering Code
g RiL|D|d|cL|ui|T]|H|F| o | —
MGIVR/L 2016K-2 e | @ | 20| 16 | 125 35 15 | 12.4 V515 20
MGIVRIL 2520M-2 @ | ® | 25 | 20 |150| 45 | 5 | 18 | 14 | MG*N200
MGIVRI/L 2925R-2 e | @ | 29 | 25 [ 200 45 23 [17.2
MGIVRIL2520M25 | ® | @ | 25 | 20 | 150 | 45 18 | 151 cinos0 NLJ0516 L4.0
MGIVR/L2925R2.5 | @ | @ | 29 | 25 | 200 | 45 23 | 18.2
MGIVR/L 2520M-3 o | e[ 25| 20 [150]| 45 18 | 15.6 M5*15 T_20
MGIVR/L 3125R-3 e | o | 31 | 25 |200] 45 23 [18.9| MG*N300
MGIVRIL 3732S-3 o e | 37 |32 250 65| ° [ 20 [215 NLJ0516 L4.0
MGIVRIL 2520M-4 e | o | 25| 20 [150] 45 18 | 15.6 M5*15 T_20
MGIVRIL 3125R-4 e | @ | 31 | 25 [ 200 45 23 [18.9| MG*N400
MGIVR/L 3732S-4 e | o | 27 | 32 | 250 | 65 29 215
MGIVRI/L 3125R-5 ® | e |31 |25 200 45 | o |28 [194)  \o00 ALN0516 L4.0
MGIVRIL 3732S-5 o | @ [ 37 | 32 |250] 65 29 [215

132




	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90

